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Abstract :

The aim of experiment is to find the values of internal resistance and
emf, and find the resistance that satisfies the condition of maximum
power transfer.

The main result is: p;,, = 980 Q..
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All batteries in the world have an emf, this definition express the voltage
difference between its terminals. An ideal voltage source is connected to
a circuit with R~0 and by Ohm's Law V=IR it provides infinite current,
and this will be impossible practically, so the battery should include an
internal resistance that helps the voltage source to maintain most of its
emf as voltage difference .

We use voltage sources to provide circuit components with power, and
this components consume the power to produce useful work is called

load.
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We get the maximum power by deriving the previous equation, and it will
be equal zero at the max point >>> this give us the value of internal
resistance.
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Physics 112 - Experiment Two

Impedance Matching and Internal Resistance
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Results and conclusion:

The value of internal resistance we found is 980Q), but in fact,
this value is the summation of internal and other external
resistance with value 1 KQ. We add this external resistance to
produce the maximum power transfer condition for large
values of R, , also , it works as additional load resistance , all
that because internal resistance is very small so that we can't
calculate it alone experimentally .

In the above graphs. The first graph describes the power curve,
and at the x-coordinate of the extreme value we have the value
of internal resistance. The second graph present the linear
relation between I~! and R, from the slop we calculated the
emf, and from the y-intercept we calculated the internal
resistance.

The value calculated 980 ohm is accepted because it
agrees with theory and included in the range

of uncertainty of the external resistence
950-1050 ohm




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6

